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gazt 11,747.5 1,708.5 7,471.3 1,586.5 5,474.5 410.3 2,574.8 -7.0 90,743.0 12,181.5 74.37 88.46
2L 7 AR 1,111.0 161.0 709.0 111.0 552.0 46.0 255.0 -14.0 6,416.0 1,004.5 73.55 86.85
S S UMADER s 620.0 56.5 384.0 102.0 273.5 8.5 179.5 - 3,932.5 623.5 68.15 85.58
¥rbt o7 AR 1,917.3 285.0 1,221.5 277.0 898.0 46.5 409.8 1.0 11,452.0 1,876.5 74.88 86.10
BRI HE 5 35 1,140.0 183.0 707.0 167.5 528.0 11.5 250.0 - 9,940.5 1,477.0 73.88 86.98
T T AR 377.8 63.5 239.5 56.5 164.5 18.5 72.8 2.0 4,005.5 402.0 76.70 91.55
SR T AR 291.0 39.5 200.0 54.0 134.0 12.0 51.5 - 2,550.0 309.5 79.52 89.41
27 AER 1,498.0 203.0 964.3 185.0 735.0 44.3 330.8 - 10,789.0 1,531.0 74.46 87.69
BT T AR 251.0 32.5 166.0 52.5 103.0 10.5 52.5 - 1,726.0 233.0 75.97 88.38
AL T AR 455.0 75.0 289.0 75.5 202.0 11.5 91.0 - 4,413.0 464.5 76.05 91.17
Tkt 7 AR 300.8 35.0 216.0 56.0 137.5 22.5 49.8 - 2,207.0 267.5 81.28 89.47
FEEMITER 403.5 85.5 233.5 44.0 172.5 17.0 84.5 - 3,244.5 374.0 73.43 91.11
i T ERE 811.5 128.5 495.5 94.0 374.5 27.0 187.5 - 6,585.5 821.5 72.55 89.48
SR T AR 886.3 106.0 570.0 56.0 418.5 95.5 210.3 - 6,643.5 869.5 73.05 88.51
&R 75 258.5 55.0 153.0 30.0 120.0 3.0 49.5 1.0 4,237.0 512.0 75.56 89.21
B DR R 2.0 - 1.0 - - 1.0 - 1.0 10.0 1.0 100.00 90.00
R 7 AR 370.5 52.0 236.0 30.0 197.0 9.0 80.5 2.0 4,364.5 424.0 74.57 91.48
ERHTT AR 117.0 16.5 75.0 21.0 47.0 7.0 25.5 - 1,104.0 95.0 74.63 92.89
{EHE T T7 AR 274.0 41.0 174.0 65.0 108.5 0.5 59.0 - 2,158.5 250.5 74.68 90.29
R TT AR 256.0 26.0 170.5 48.5 121.0 1.0 59.5 - 2,517.5 258.0 74.13 90.78
HlE 75 379.0 62.0 252.5 60.0 175.0 17.5 64.5 - 2,214.0 353.0 79.65 86.86
B T A 27.5 2.0 14.0 1.0 13.0 - 11.5 - 232.5 34.0 54.90 86.24
i AE[EIE R (%) 4.64 -2.15 2.38 18.13 -4.57 87.97 18.68 -151.85 4.62 11.69 -2.71* -0.98*
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